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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

U?9?2 June, 2019 

LIFE SCIENCE 

LSE-05 : PHYSIOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Use separate answer sheets for Part I and Part II. 

Be brief and precise in your answers. Draw neat 

and labelled diagrams, wherever necessary. 

PART I 

Animal Physiology 

Note : Question no. 1 is compulsory. Attempt any 
four questions from questions no. 2 to 6. 

1. (a) Define the following terms : 	 2x1=2 

(i) Micelles 

(ii) Osmoconformers 

(b) Fill in the blanks : 	 4x 2  =2 

(i) Trypsin helps in the digestion of 
	 of the food. 

(ii) Arachnids excrete 	 

(iii) Small sized animals have 	 
metabolic rate than large sized animals. 

(iv) 	 releases the secretion of 
ecdysone in insects. 
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(c) Expand the following : 

(i) RQ 

(ii) ADH 

2. (a) Describe the structure of a nephron in 
mammalian kidney. 	 4 

(b) What is glomerular filtration ? 

3. (a) Explain the process of clotting of blood. 	4 

(b) What is the role of lymphatic system in the 
body ? 	 1 

4. (a) Explain the hormonal mechanism involved 
in ovulation in mammals. 	 3 

(b) Give the desert adaptations in Kangaroo rat. 2 

5. Explain the mechanism of chemical and 
electrical synaptic transmission. 	 5 

6. Write short notes on any two of the 

following : 	 2x2 1  =5 

(a) Oxygen dissociation curve 

(b) Tracheal respiration 

(c) Mechanism of muscle contraction 

(d) Excitation of heart 

LSE-05 	 2 



PART II 

Plant Physiology 

Note : Question no. 7 is compulsory. Attempt any 
four questions from questions no. 8 to 12. 

7. (a) Fill in the blanks in the following 
statements : 	 2x1=2 

(i) A very low concentration of 	 

can lead to the closure of the stomata. 

(ii) 	 is the most mobile nutrient 

in plants. 

(b) Choose the correct alternative from the 

words given within brackets : 	 2x 
2 

(i) Stomata allow entry of (H20/CO 2) 

necessary for the photosynthesis. 

(ii) (NH4/NOi ) is the most preferred form 

of nitrogen by the plants. 

(c) Define any two of the following : 	2x1=2 

(i) Apoplastic pathway 

(ii) Imbibition 

(iii) Stomatal frequency 
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8. Trace the transfer of electron from water to 

NADP+  during light reaction in photosynthesis 

with proper diagram. 	 5 

9. Describe the function of essential elements in 

plants with proper examples. 	 5 

10. Describe the effect of auxin and cytokinin on 

plant growth and development. 	 5 

11. (a) Discuss how plants responds towards 

biological stress. 	 3 

(b) Describe the ,importance of heat-shock 

proteins in plants. 

12. Write notes on any two of the following : 

(a) Red Drop 

(b) Munch Pressure Flow Model 

(c) Gifted species for nitrogen fixation 
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